
.idw

TETRIX S442-LOZ/80/160



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw.idw

?

?

0-5

A

B

A=B

§

2

§2

§1

§3

§4

§5

Ogólne zasady montażu mebla

1

§

§9

§8

§7

§6

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

§9

§7

§8

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

3 /12 

.idw

§1

0 1 2 3 4 5 6 7 8 9 10
cm

S442-LOZ/80/160              TETRIX
A C (mm)B D

A

D

1/4

2/416190767S325-4121

2/416190767S325-4132

2/4161901878S325-4143

2/4161901878S325-4154

1/422792720S442-00275

1/422792720S442-00286

3/4182851954S442-00297

3/4184901960S442-40438

1/213015001950ZZ1-4019

2/42352198ZZ1-40210

2/42323140ZZ1-40311

2/4171760ZZ1-40512

2/43027600ZZ1-40613

2/42170684ZZ1-40714

4/4187121896ZZ1-40815

4/436941888ZZ1-90316

1 h

9

8

5

6

7

4

16

3
2

1

10

14

14

12

11

13

13

12
11

14x

Ø7x50 mm e1

16x

Ø6,3x13 mm

8x

Ø7x28 mm
u48\ 4 f1

17x

Ø8x30 mm

16x

4x

M6x30 mm

8x

j96M6x27 mm

1x

k34Ø25 mm

4x

M6/n14x14 mm

4x

M6/22 mm

4x

k44Ø35 mm

2x 1x 1x 2x

55x30x20\2

4x

55x30x29\2 mm

8x

Ø6xØ12\1,4 mm

8x

Ø6xØ22/1,5 mm

6x

Ø3,5x13 mm

20x

Ø4x45 mm

 

2x

Ø4x20 mm

 

6x

Ø15x12 mm  #16 r1

6x

r4220/11

1x

395 mm

1x

P395 mm

1x

4 mm

10x

Ø14x0,5 mm s59

6x

Ø 20mm s68

2x

c280\6

15

4x

M4x22 mm

4x

Ø4x35 mm

 
 



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

4 /12 

.idw

S442-LOZ/80/160              TETRIX

1

5

6

8

10

14

13

11

12

13

11

12

2x

r42

r42

e2

p62

p62

k39\3

k39\2

p62

e2

k39\2

k39\3

k39\3
k39\2

k39\3
k39\2

e2

r42

r42

p62

p62

f1

p68

k34

f1

f1

f1

f1

r1

r1

r1

r1

f1

r1

r1
f1

n99

n99

r42

n99

n99

e2

§2 §6

I II I II

n99

e2

u4 8\ 4 f1

9x

Ø8x30 mm

6x

r4220/11

8x

Ø6,3x13 mm

4x

55x30x29\2 mm

14x

Ø4x45 mm

 

4x

M6/n14x14 mm

4x

M6/22 mm

2x

Ø4x20 mm

 

1x

k34Ø25 mm

6x

Ø15x12 mm  #16 r1

p62

p6

p6

4x

Ø4x35 mm

 
 



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

5 /12 

.idw

S442-LOZ/80/160              TETRIX

2

5

8

6
r1

r1

r1

r1

r1

r1

§6

I II

r42

r1 r1



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

6 /12 

.idw

S442-LOZ/80/160              TETRIX

3

8

9

o40
j10

o40
j10

§6

p62
p62

p62
p62

p62
p62

p62

6x

Ø4x45 mm

 

4x

Ø6xØ12\1,4 mm

4x

s68

s68

s68

s68

s68

s68

6x

Ø 20mm s68

§21



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

7 /12 

.idw

S442-LOZ/80/160              TETRIX

4

3

16

4

14

14

e1

e1

e1

e1

§6

e1

z1

4x

Ø7x50 mm e1

1x

4 mm

f1

f1

f1

f1

u48 \4 f1

8x

Ø8x30 mm



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

8 /12 

.idw

S442-LOZ/80/160              TETRIX

5

2

1

3

4

e1

e2

e2

e1

e1

e2

e2

e1

k44

k44

o40

j10

n100

j96

k44

k44

j96 n100

o40 j10

§6

A

B

A=B

e1

z1

k44

e2
8x

Ø7x50 mm e1

8x

Ø6,3x13 mm

4x

k44Ø35 mm

4x

j96M6x27 mm

2x

55x30x20\2

4x

Ø6xØ12\1,4 mm

4x

1x

4 mm



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

9 /12 

.idw

S442-LOZ/80/160              TETRIX

6

2

1

3

10

e1

p27

p27

p27

p27

j9

j10

o6

j10
o6

j9

j10
o6

j10
o6

m28\P

m28\1

s7\P

s7\L
m28\L

§6

e1

z1

m28\P

s7\P

s59

s59

s59

s59

s59

2x

1x 1x

2x

Ø7x50 mm e1

10x

Ø14x0,5 mm s59

1x

395 mm

1x

P395 mm

4x

M6x30 mm

4x

Ø6xØ22/1,5 mm

4x

6x

Ø3,5x13 mm

s59
s59

e1
1x

4 mm



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

10 /12 

.idw

S442-LOZ/80/160              TETRIX

7

4

7

j10

o6

j10

o6

e22

e22

c280\6

e22

c280\6

e22

§6

j96

o6
j10

m28\L
j96

j10
o6

e22

4x

Ø6xØ22/1,5 mm

4x 4x

j96M6x27 mm

8x

Ø7x28 mm

1x

4 mm

2x

c280\6

j60

j60

4x

M4x22 mm



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

11 /12 

.idw

S442-LOZ/80/160              TETRIX

8 §6

§10



P28-S442-LOZ_80_160-M_IN25-A-KOR01-TSZT01.idw

12 /12 

.idw

S442-LOZ/80/160              TETRIX

9


